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Basic identities

cotd = (Memorize these!)

%

sin“d+cos*@=1

1+tan®’ @ =sec’ 8| Pythagorean identities (Memorize these!)

1+cot’8 =csc? 6

sin(A+B) =sin AcosB +cosAsinB
sin(A-B) =sin AcosB —cosAsinB
cos(A+ B) =cosAcosB-sin AsinB
cos(A—-B) =cosAcosB +sin AsinB

tan(A+ B) = tan A+tanB
1-tan AtanB
tan(A-B) = tan A—-tanB
1+tan Atan B

sin26 = 2sindcosé
cos28 =cos’ 8 -sin’ 4

Sum and Difference identities

(Memorize at least the sine and cosine sum and
difference identities. You can obtain tan(A+B) by
dividing sin(A+B) by cos(A+B), and likewise for
tan(A-B), if you forget the tangent identities.)

c0s28 = 2cos* 8 -1 Double angleidentities
cos26 =1-2sin2 6 (Memorize at least the si ne and cosi.ne double angle ?dentiti €s.
2tand Y ou can obtain tan 26 by dividing sin28 by cos26 if you
tan20 = ——— forget the tangent identity, or you can replace A and B with &
1-tan" 6 in the tan(A+B) formulato derive the tan 26 identity.)
1= c0s20 in?( o) = 1- cos(twicetheangle)
§n2g = : sin“(anangle) = >
1+cos2 . + i
cos’ @ = %H Formulasfor reducing powers cos’ (an angl e) -1 cos(twn;etheangle)
1- cos20 (Memorize the sine and cosine
tan2 9 = =—954% | formulas for reducing powers.
1+00s20] v oy can obtain tan? 8 by dividing

sin® @ by cos® 8.)



.8 1-cosf
sn—= %
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1+ : "
cosg: + 02050 Half angleidentities
(Memorize the sine and cosine identity and

tangz sinf _ 1-cosf _ . [1-cosf| atleast oneversion of thetangent identity.

2  1+cos@ sné “\1+cos@| You can derivethem from the formulasfor

reducing powersif you forget them.)

sin(6+27k)=siné
cos(@ + 27k) = cosd
tan(6 + 7k) = tan &
cot(6 + 7k) = cot @
cso6 + 27Kk) = cscd
sec(6 + 27k) = secd

Periodic identities (Memorize/understand these.)

sin[Z—T - 9) = cosd

2

CO’{]—T— f|=snd
2

tan(’—zT— @ |=cotd

Co-function identities (Know these, t00.)

V4

cot(——& =tand
2
T_g|=seco
2

sec(ﬂ— 0 |=cscd
2

sinAsinB :%[COS(A— B)-cos(A+B)|

1
cosAcosB = =[cos(A- B)+cos(A+B)]| Product-Sum formulas
2 (You do not have to memorize these, but you

sin AcosB = %[sin(A— B)+sin(A+B)] | should lean how to apply them.)




